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aane WEAZE nEH| Z|ErZH|(F71T) Al
= FIE) (8718 a5 = (H) EHESEF=Y)
Z1(AE) 210 210 40,500
Z02(1E) 210 420 81,000
=0{3(1E) 210 630 121,500
ZU4LE) 210 840 162,000
=051 E) 210 1,050 202,500
Z06(1E) 210 1,260 243,000
Z0{7(1E) 210 1,470 283,500
=) 210 1,680 324,000
=0{9(15) 210 1,890 364,500
=0{10(1 5) 210 2,100 405,000
20115 210 2,310 445,500
Z0{12(15) 210 2,520 486,000
20{13(1E) 240 240 47,500
=014 S 240 480 95,000
ZO015(15) 240 720 142,500
=Z0{16(1S) 240 960 190,000
Z017(2 5 240 1,200 237,500
Z0{18(15) 240 1,440 285,000
Z0{19(5) 240 1,680 332,500
=20{20(15) 240 1,920 380,000
Z0{21(15) 240 2,160 427,500
ZO{22(1E) 240 2,400 475,000
Z0{23(15) 240 2,640 522,500
=0{24(115) 240 2,880 570,000
2025(15) 270 270 54,000
Z026(1E) 270 540 108,000
Z027(15) 270 810 162,000
Z0{28(1E) 270 1,080 216,000
Z0{29(115) 270 1,350 270,000
ZO30(1E) 270 1,620 324,000
=0{31(1S) 380 380 75,000
Z0{32(1E) 380 760 150,000
=0{33(1S) 380 1,140 225,000
Z0{34(115) 380 1,520 300,000
Z0{35(15) 380 1,900 375,000
=2036(15) 380 2,280 450,000
£=SH(IE) 210 210 40,500
£=3S(1E) 210 420 81,000
£=513(15) 210 630 121,500
=3t 5) 210 840 162,000
£=SI5(1LE) 210 1,050 202,500
£=8l6(1E) 210 1,260 243,000
£=3}7(15) 210 1,470 283,500
£=5t8(1 ) 210 1,680 324,000
=SS 210 1,890 364,500
#=sHo(11S) 210 2,100 405,000




£SH1(ILS) 210 2,310 445,500
£5H2(1S) 210 2,520 486,000
£=3H3(1E) 240 240 47,500
£=8H4(1E) 240 480 95,000
$=8H5(1 ) 240 720 142,500
F8H6(1LS) 240 960 190,000
£SHM7(AS 240 1,200 237,500
£=5H8(LE) 240 1,440 285,000
£=sH9LE) 240 1,680 332,500
£=30(1E) 240 1,920 380,000
£=321(15) 240 2,160 427,500
£=822(1E) 240 2,400 475,000
£=523(1E) 240 2,640 522,500
FBIALE) 240 2,880 570,000
$=T5(1E) 380 "~ 380 75,000
£Bh6(1E) 380 760 150,000
$=3127(1-5) 380 1,140 225,000
F=528(15) 380 1,520 300,000
£=3129(15) 380 1,900 375,000
£BI30(ILE) 380 2,280 450,000
$5131(1E 320 320 63,250
£5I32(LE) 320 640 126,500
2=5133(1E) 320 960 189,750
£=T134(1E) 320 1,280 253,000
$=835(15) 320 1,600 316,250
£336(15) 320 1,920 379,500
£5137(15) 320 2,240 442,750
£=3t38(1-5) 320 2,560 506,000
£3139(15) 320 2,880 569,250
250 E) 320 3,200 632,500
Adoj1(1E) 210 210 40,500
o2 E) 210 420 81,000
AO{3(1E) 210 630 121,500
oj4(15) 210 840 162,000
HOo{5(1 ) 210 1,050 202,500
A0o6(E) 210 1,260 243,000
Fo7(28) 210 1,470 283,500
A0{g(LS) 210 1,680 324,000
A9 S) 240 240 47,500
do{10(1E) 240 480 95,000
F011(DE) 240 720 142,500
Adoj12(E) 240 960 190,000
d0o{13(1E5) 240 1,200 237,500
d0o{14(1E) 240 1,440 285,000
Hoj15(ns 240 1,680 332,500
do{16(1LE) 240 1,920 380,000
HOo{17(1E) 240 2,160 427,500
H0{18(1E) 240 2,400 475,000
&0{19(15) 240 2,640 522,500
F0{20(11S) 240 2,880 570,000
2o{21(15) 380 380 75,000
2 0{22(1E) 380 760 150,000




H023(1E) 380 1,140 225,000
A0{24(LS) 380 1,520 300,000
HOo25(1E) 380 1,900 375,000
H026(1E) 380 2,280 450,000
EIL1(AE) 240 240 47,500

Et (1L 240 480 95,000
El3(1S) 240 720 142,500

Et 4D E) 240 960 190,000

Et 51 E) 240 1,200 237,500
Et6(1S) 240 1,440 285,000
EF7(05) 240 1,680 332,500
ST8(LS) 240 1,920 380,000

EF 291 E) 240 2,160 427,500
ET10(1E) 240 2,400 475,000
Ef111(AS) 240 2,640 522,500
EF2(IE) 240 2,880 570,000
EFR13(1E) 270 270 54,000
EFL14(1E) 270 540 108,000
EF5(1E) 270 810 162,000
EtL16(1E) 270 1,080 216,000
EL7(1S) 270 1,350 270,000
EF18(1E) 270 1,620 324,000
EtL19(1S) 380 380 75,000
EFL20(1E) 380 760 150,000
El21(1LS) 380 1,140 225,000
EF122(1 ) 380 1,520 300,000
EF123(1S) 380 1,900 375,000

Bt 24(1LS) 380 2,280 450,000
=215 290 290 57,500
=&)(1E) 290 580 115,000
=23(1E) 290 870 172,500
=SAE) 290 1,160 230,000
=&5(11E) 290 1,450 287,500
==6(LE 290 1,740 345,000
=571 E) 320 320 64,000
=28(1E) 320 640 128,000
k= 320 960 192,000
=210 E) 320 1,280 256,000
EE11(@S) 320 1,600 320,000
(=0, 5,30 B 1,480 1,480 183,000
Ee2(= 0,55, F0o,E ) 1,480 2,960 366,000
Z23(= 0,58, FO{,Et ) 1,480 4,440 549,000
Se4(=0, =%, B0, BT 1,480 5,920 732,000
Z35(=0, 5, F 0 Ef ) 1,200 1,200 146,400
Sote(=9, 5, N, B 1,200 2,400 292,800
EF2H7(=0, 8,30, B 1,200 3,600 439,200
8=, =, F B 1,200 4,800 585,600
| S29(=9. 5 B9, B 1,040 1,040 128,100
Z3HM0(=0, 3, FH,EH 1,040 2,080 256,200
F3H1(=0, 3 S0, B ) 1,040 3,120 384,300
E3M2(=0f, =3 O B 1,040 4,160 512,400
E8113(=0, 38, S0, B ) 840 840 102,480




S314(=0, 51 90, B 210 1,680 204,960
159,590 8 210 2,520 307,440
EeH6(=0, 5 F0{ ) 210 3,360 409,920
B5e17(=0,53, 90, B 330 1,320 164,700
S818(=0, 5 I, B 330 2,640 329,400
ESeH9(=0, 5 4o B 330 3,960 494,100
Se20(=0, 53 90, &) 330 5,280 658,800
E321(=0, 590, ') 270 1,080 131,760
220,55, g0 8EH 270 2,160 263,520
S223(=0,, S0 BH) 270 3,240 395,280
S24(=9,%, 99,81 270 4,320 527,040
Et25(=0], 55}, 0| B ) 270 270 32,500
R Gk P ke A= A A= ) 270 540 65,000
Se27(=0,5, B0 EHH 270 810 97,500
5828(=0],3 20, B 270 1,080 130,000
£3t29(=0{, 55 9o B ) 270 1,620 195,000
ZE38130(=01,55t, 80 &) 270 2,160 260,000
F3831(=0], 5, 4o, B 1) 210 210 26,000
Ee32(=0, 5}, 90, B ) 210 420 52,000
53133(= 0,55, 90 B 210 630 78,000
Fe134(=0,55, 20, 51 210 840 104,000
S835(=0, =3t Fof 1) 210 1,260 156,000
Se36(=01, 55,90, &) 210 1,680 208,000
NN R 150 150 29,600
SR =2(0E) 210 210 37,000
ZISHX| £3(1 S 270 270 52,800
WEWNE kS 150 300 59,200
NENE S 330 330 66,000

Mt X| =6(1LE 390 390 73,600
XstX|E27(1E) 210 420 74,000
NENETIRES) 420 420 79,200
S| E9(1LE) 420 420 84,000
ZISHX| E10(1E) 150 450 88,800
AstX| =115 480 480 92,000
FISHX E12(1E) 510 510 99,000
N NEXEnES) 540 540 104,000
SR E14(D5) 540 540 105,000
XISHX| E15(05) 270 540 105,600
TSR E16(15) 210 630 111,000
XISHX| E17(S) 150 600 118,400
KSR £ 18(1S) 660 660 130,000
XStX| 2191 S 330 660 132,000
FISHX| E20(A5) 390 780 147,200
SR E21(1S) 210 840 148,000
S| E22(1E 270 810 158,400
FISHX | £23(1E) 420 840 168,000
FIBHX| E24(1E) 480 960 184,000
IStX| 2 25(15) 330 990 198,000
IR E26(15) 540 1,080 208,000
MK Z27(1S) 540 1,080 210,000
B[ E28(1E) 270 1,080 211,200
ISR = 29(15) 390 1,170 220,800




NESNEENIE)) 420 1,260 237,600
FISX| E31(1E) 420 1,260 252,000
KX E32(AS) 660 1,320 260,000
XSt £33(10-5) 330 1,320 264,000

M X E34(12F) 480 1,440 276,000

FE X £35(25) 390 1,560 294,400
M| E36(0E 510 1,530 297,000
MSHR| £37(1DE) 540 1,620 312,000
TSt X| =38(12F) 540 1,620 315,000
TSR 239(E 420 1,680 316,800
RISt =40(2 ) 420 1,680 336,000
et | E41(2DT) 480 1,920 368,000
retX| 42(2 s 660 1,980 390,000
SkR| =43(15) 660 1,980 396,000
MEHR| £ 44(1-5) 540 2,160 416,000
FISHK| 245(1F) 540 2,160 420,000
TSR £ 46(11-5) 660 2,640 520,000
HILR 2O|aA 12,000
SO RO IIAL A 12,000
=St O|TIAL A 9,000
AO|2O| 0AFA 8,000

B DO|TALA 7,000

S S5ZOAN DO DAL M3H13) 20,000
F5HOMHDo DA Ylh(13) 13,000
2STZO{AMDO DAL 7| 2(213) 7,000
T HA DA HBH12) 18,000
FSZO|AM RO DA} LKD) 11,000
HSZO|AM RO AL 7| =(12) 7,000
S5 0] MHEO DAL YHHTD) 28,000
=5 0| AHH Do\ DA (EM) 36,000
5 F0| 244 RO| 1A (B 24,000
5 0| MENHE Dol nAHT3) 19,000
+5 £3 SEINS Bo|1ALL3) 18,000
F5 $8 MWDo NA Y433 10,000
S5 $8 MMDO|DA 7| £(T3) 6,000
AAFZO| BO[AL 1-1 13,000
AMIZO| BLTAL1-2 13,000
M0 ZOo| DAL 13|k} 12,000
A4=0] 2| DAL 23K} 12,000
Ha=0 2o 1AF 33[X} 12,000
A4=0] Bo| DAL 43] K} 12,000
EOfEl 13 15,000

AaE 58 9,000
S 6EHD 9,000
A4 7ED 9,000

£ 20| A4 | DAF SA(H) 12,000
S5 20| AWM 2| TA SA(FH) 12,000
S5 T0| AHY DO\ DAL EAEE 12,000
25 0| AHH 0| DAF SA|(RAoH) 19,000
S 20| ALA O\ TAF SA(EHEY 19,000
0|Zt #=38t MM ZO|TAL M3} 18,000
Ol =8t AT 2o AL Ykt 10,000
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8,000

H7tCHd 2ol uA 20,000

5 R0 TH0jd Zol lAN(e 2 46,000
B a7t AE O3 AR A 18,000
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ES11(IS) 240 240 47,500
E32(15) 240 480 95,000
31 8) 240 720 142,500
B4 5) 240 960 190,000
Et5(15) 240 1,200 237,500
eSS 240 1,440 285,000
E317(15) 240 1,680 332,500
B85 240 1,920 380,000
B9 E) 240 2,160 427,500
g§T10(EsS 240 2,400 475,000
E111(28) 240 2,640 522,500
Er12(15) 240 2,880 570,000
ES3113(IS 270 270 54,000
EF 11415 270 540 108,000
11515 270 810 162,000
E116(1S 270 1,080 216,000
ER17(18) 270 1,350 270,000
Et18(1S) 270 1,620 324,000
=21(325 290 290 57,500
=2(18) 290 580 115,000
=&3(18) 290 870 172,500
=E4(1E) 290 1,160 230,000
=&515) 290 1,450 287,500
=E6(1S) 290 1,740 345,000
=a7(18) 320 320 64,000
=28(115) 320 640 128,000
=295 320 960 192,000
=210(1S) 320 1,280 256,000
=211(318) 320 1,600 320,000
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